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What do | need to be able
to do?

By the end of this unit you should be able to:
Carry out any mutiplication or division
wsing fractions and integers

Feywords

Numerator - the number above. the. ne on ai fraction The top number Represerits how many parts are taken
Denominator: the number below the Ine on a fraction The number represent the total number of parts
hole: a posttive rumber including zero without any decimal or fractional parts

it Fraction: a fraction where. the numerator is one and denominator a positive integer
Non-unit Fraction: a fraction where the numerator is larger than one
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Commutative: an operation is commutative if changing the order does not change the resutt :
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* Solutions can be modeled, described and I
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4 Dividend : the amount you want to diide up
remone Divisor: the number that diides another number D
Quotient: the answer after we duide one number by another eg diidend- dwisor = quotient
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: Representing a fraction I Repwted addition = muttipication by an integer Reist
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Wht each part represents :
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OLL PORTS of a fraction are of equal size :
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| Muttiping unit fractions || Multipking non-unt ractions |
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